Vestiging Harderwijk

Harderwijk, Station

Harderwijk, alle haltes stadslijn

Lelystad

1,2,3,4,5,6,8,9,10,11 en 16

Lelystad
|

Lelystad, alle haltes stadslijnen (behalve 7)

=
' 51 5| 3
arde Amersfoo :(E l:uE_ ugJ
Harderwijk, Station
| 1 2 2
Harderwijk, Salentijnerhout
Ermelo, Kolbaanweg
| 2 1 2
Ermelo, Hamburgerweg
Ermelo, Sonneheerdt
| 2 2 1
Putten, Bijsterenseweg
2 2 2
Putten, School Diermen
[ 3 3 2
Nijkerk, Agaatvlinder
Amersfoort, Texelstraat
| 3 3 3
Amersfoort, Station Vathorst
Amersfoort, Vrouwenpolder
| 4 4 3

Amersfoort, Centraal
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3 3 2 2 1

04 o | &
@ N %
Barneveld, Station Barneveld Centrum
| 1 2 2
Barneveld, Esvelderweg
Kootwijkerbroek, Wencopperweg
| 2 1 2
Kootwijkerbroek, Oosterbrinkweg
Stroe, Ravenweg
| 2 2 1
Stroe, Majoor Mulder Kazerne
2 2 1
Garderen, Hooiweg
| 3 2 1
Garderen, Bakkerstraat
Uddel, Cafe Uddelermeer
| 3 3 2
Uddel, Noord Riezen
Elspeet, Kleine Kolonieweg
| 3 3 2
Elspeet, Hooiweg/Middenweg
Staverden, Kasteel Staverden
| 3 3 3
Leuvenum, Ullerberg
Harderwijk, Hotel Van der Valk
| 4 4
Harderwijk, Station
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Harderwijk, Station
| 1 2 2
Harderwijk, Celsiusstraat
Hierden, Grevenhofsweg
| 2 1 1
Hierden, Wijtgraaf
Hulshorst, Landgoed Hulshorst
| 2 1 1
Hulshorst, Onder de Bos
2 2 1
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arde Barneveld g (>D 33:
Barneveld, Station Centrum
| 1 1 2
Barneveld, Zeumerseweg
Voorthuizen, Verbindingsweg
| 1 1 2
Voorthuizen, Struik
Huinen, Veenhuizerweg
| 2 2 1
Huinen, Oude Garderenseweg
2 2 1
Ermelo, Sonneheerdt
| 3 2 2
Ermelo, Fokko Kortlanglaan
Harderwijk, Mecklenburglaan
| 3 3 2
Hardewijk, Station
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Harderwijk, Station
| 1 2 2
Harderwijk, Burg, de Meesterstr (terug Zuidwalstr)
Harderhaven, Harderhaven
| 2 1 2
Zeewolde, Harderbroek
Zeewolde, Omloop
| 2 2 1
Zeewolde, De Verbeelding
3 2 2
Zeewolde, Slingerpad
[ 3 3 2
Zeewolde, Nijkerkersluis
Nijkerk, Berencamperweg
[ 4 3 3
Nijkerk, Agaatvlinder
Amersfoort, Texelstraat
| 4 4 3

Amersfoort, Station Vathorst
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Harderwijk, Station
| 1 2 2
Harderwijk, Burg, de Meesterstr (terug Zuidwalstr)
Harderhaven, Harderhaven
| 2 1 2
Zeewolde, Harderbroek
Zeewolde, Omloop
| 2 1
Zeewolde, Langezand
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Dronten, Station
| 1 2 3
Dronten, Melisse
Biddinghuizen, Havenweg
| 2 1 2
Biddinghuizen, Alikruikweg
Biddinghuizen, Bremerbergweg
| 3 2 1
Harderhaven, Harderhaven
3 2 2
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Apeldoorn, Station
| 1 2
Apeldoorn, Ekro
Nieuw Milligen, Kruispunt
[ 2 1 2
Uddel, Garderenseweg
Harderwijk, Van der Valk (terugweg H'wijk Tweelingstad
I 4 2 1

Harderwijk, Station
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Harderwijk, Station
| 1 2 2
Harderwijk, Burg, de Meesterstr (terug Zuidwalstr)
Harderhaven, Harderhaven
| 2 1 2
Zeewolde, Gooiseweg
Lelystad. Vogelweg
| 2 2 1
Lelystad, Larserpoortweg
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Harderwijk, Station
| 1 2 2 4 4 5
Harderwijk, Burg, de Meesterstr (terug Zuidwalstr)
Harderhaven, Harderhaven
| 2 1 2 3 4 4
Zeewolde, Harderbroek
Zeewolde, Omloop
| 2 2 1 3 3 4
Zeewolde, Bolwerk
3 3 2 2 3 3
Zeewolde, Dodaarsweg
| 4 3 3 1 2 2
Almere Hout, Paradijsvogelweg
Almere Hout, Nachtegaallaan
| 4 4 3 2 1 2
Almere Hout, De Kemphaan
Almere Stad, Veluwsekant
| 5 4 4 2 2 1

Almere Stad, Station Centrum
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Zwolle, Station

| 1 1 1

Zwolle, Het Engelse Werk

Hattem, IJsselbrug

| 1 1 1

Hattemerbroek, Centrum

Wezep, W. de Zwijgerkazerne

| 1 1 1

Wezep, A28 / |Usselvliedt
2 2 2

Elburg, Eperweg
| 3 2 2
Elburg, Molendorp

Doornspijk, Begraafplaats

| 3 3 2
Doornspijk, Centrum
Nunspeet, Elburgerweg

| 3 3 3

Nunspeet, Station
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